POEC 6381

Introduction to Geographic Information Systems

Sample Midterm  Exam

Provide concise and relevant answers to EIGHT (8) ONLY of the following. Think before putting pen to paper (or fingers to keyboard). Consider all aspects of each phrase carefully. Be sure that you explain the main terms used in the question and your answer (assume I don’t know what they mean!), that your answer is organized, and that the points you make are not repetitive within your answer. Also, each question addresses a different issue. If you find yourself repeating the same information as you answer different questions, you may be on the wrong track.  

Generally, one, or at most two, paragraphs on each question will suffice. Ten points per question. I’ll drop the lowest, and  give you a bonus of 30 to get the total to be out of 100.  In essence, the questions are: “True/False (or a bit of each) with explanation.” Good luck! 
1. Datums are primarily of relevance when measuring elevation since they establish the base, most commonly mean sea level, from which the vertical height is measured. Agreed? Explain.

2. The concept of RMSE is especially useful since it encapsulates all of the critical information we need to know about the accuracy of a GIS data base. Agreed? Explain.

3. In GIS applications, in contrast to more traditional mapping applications, we always try to select a map projection which is both equivalent and conformal. Agreed? Explain.

4. A GIS system designed to meet  National Map Accuracy Standards, combined with digital ortho photos with a resolution of 5 meters provides an excellent basis for urban infrastructure management (highways, sewer and water line location, etc.) applications. Agreed? Explain.

5. A relational DBMS is merely a convenience for a raster based GIS but an absolute necessity for a vector-based GIS. Agreed?. Explain.

6. In a node/arc/polygon data structure, “from” and “to” nodes are designated primarily to permit the recording of information about flows along arcs (such as stream flow and one-way-streets).  Agreed? Explain

7. Data collected at 1 arc-second by 1 arc-second intervals in the X and the Y dimensions would produce a square tesselation Agreed? Explain.

8. Whether a feature is represented as a point or a polygon in a GIS data base is entirely dependent on the nature of the phenomena itself. Agreed? Explain.

9.  A TIN is used to represent vector data in a raster-based GIS system. Agreed? Explain

